Goal 2 Chemistry Released Questions Name

1. Which best describes the current atomic theory?

a. atoms consist of electrons circling in a definite orbits around a positive
nucleus.

@Hcau are composed of electrons in a cloud aound a positive nucleus.

¢. Atoms can easily be split, at which time they become radioactive.

d. an atom’s mass is determined by the mass of its neutrons.
2. What is the nuclear composition of uranium-235?

a. 92 electrons + 143 protons 143 protons + 92 neutrons

b. 92 protons + 143 electron 92 protons + 143.neutrons
3. Which best describes the relationship between subatomic particles in any
neutral atom?

- a the number of protons equals the number of electrons

b. the number of protons equals the number of neutrons

¢. the number of neutrons equals the numbers of electrons

d. the number of neutrons is greater than the number of protons
4. What is the name of the compound PbO,?

a. lead oxide b. lead(Il) oxide ¢. lead oxide (I)( d/lead (IV) oxide
5. What is the nam @ HCl(ag)?

a. chloric acid hydrochloric acid  c. hydrogen chloride  d. perchloric acid
6. What is the formiila for calciym nitrate?
a. O&ZOu b. ONAZOHWN OEAZOwVN d. ONuZu.
7. What is the correct formula for'dinitrogen pentoxide?
a. Zao b. ZOu nOm d. ZOa
.. gs :__m<o_=_=oe:m.mm

Dﬁ the metal?
a. iron b.lead c. nickel d.zinc

w. Which substance listed in the

Melting Beiling

table is a liquid at 27°C? Point Point 62:35 e
) § 28°C 140°C
a.l b1 d.1v o = | o0
. m 20°C 140°C

- IV | 790°C 14°C
10. Which will increase the solubility of MOST solid solutes?
a. decreasing the temperature

b. decreasing the amount of solvent at constant temperature
¢. increasing the amount of solute at constant temperature

emanqmum?m the temperature

m piece of metal is 2.35 niu , what is the identity of lcu

757w - %.w&\/\

s?g% ¢V o= PV

11. What happens to :.M\ﬁ.amm:..m of a gas at constant temperature when the
volume is doubled? The pressure s ....,
a. doubled duced by 1/2
b. going to remain the same d. reduced by 1/4
12. The total pressure in an enclosed container containing N,, O,, and CO, is
30.atm. If the partial pressure of N; is 4 atm and the partial pressure pf ON is
6 atm, what is the partial pressure of CO,? 30 - Y a%?

)

¢ a.20 atm b. 30 atm c. 40 atm d. 50 atm

-+ .u
o
13, What is the pressure (in atmospheres) exerted by a 0.100 mﬂ*vuv_n of e

oxygen in a 2.00 L cpagainer at 272°C?
a. 0.448 atm { b,2.24 atm c. 1120 atm d. 2240 atm

14. What type of bonding is associated with compounds that have the

following characteristics:

Hi E points
Conduct EEE&: state
c_iEm.EhE_n.Q
Normally foungd a stalline solids at room temperature
a. covalent Q.Eo c. hydrogen  d. metallic
15. What is a uniqure’characteristic of the bonding between metal atoms?
a. atoms require additional electrons to reach a stable octet
b. atoms must give away electrons to reach a stable octet
¢. atoms share valence electrons only with neighboring atoms to reach a stable octet.
‘Q localized electrons move among may atoms creating a sea of electrons
6. Which pair of elements would MOST likely bond to form a covalently
bonded molecule?
a. sodium and fluorine @vscmc__c.&m and oxygen
b. barium and chlorine d. magnesium and sulfur
17. Based on VESPR theory, what is the molecular geome a molecule of PI3?
a. linear b. tetrahedral c. trigonal planar rigonal pyramidal

&um::: shown on the ] A

right. At what
temperature does the

normal boiling point

occur?
4. 45°C b. 60°C

c. 100°C eqd 051
—

0 10 30 50 70 90 110

18. Consider the phase 4 N~ ’

Pressure (atm)
(=
r=y

Temperature (°C) .
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7.

emistry Released Questions Name } ) 13. What is a possible molecular formula for a substance if \v ,wmmm shows a

1. Tue compound formed between element X and or%mms had the chemical : compound to be, by mass, 43.8% N, 6.2% H, and 50.0% O? .
formula X20. Which clement would X most likely fepresent? I & a. NH,NO, é ¢. NH,OH d.N,OH '

a. Fe b. Zn e d. Sn - | 14. A compound has an nEﬁEon— formula of CH,Q and a molecular mass of
2. Which electron configuration represents a Rwum_mon element? nw 180g. What is the compound’s molecular monn-{wl\ 20 Q

a. 1625%2p’ (SNs’2s2p3s™3pas™3d’ —_— CHUxle= a2 CHoO, (b o,mno0 c.CHy0,  d.C,H,0,

b. 1s%25%2p°3s° d. 152s%2p°3s’3p*4s*3d"4p" .d#l..w 15. What is the percent by mass of iton in the compound Fe,0,?
3. Given the electronic configuration of umNNmNNv how many electrons does ﬂr_m a.70%  b.56% c.48%  d.30% AN UFV
element have in its outer level? , 16, Metallic sodium reacts violently with water to r@%ﬁmﬂb nd sodium

a2 b.4(cod.8

4. Which correctly ligts four atoms from smallest to *E.mwmﬂ radii?

a. I<Bt< [ mMMHAmA\O_. |
b. F<I<Br<Ci (aFi<s<P<si v

5. Which BEST explains why cations are smaller nrmrn the atoms from which

they are formed? é .H% T LU b\

hydroxide according to the balanced equation:
Na + 2H,0 = 2NaOH + H,
Hownany'moles of hydrogen mm@un geperated ir A 0 mojes of

sodium react with excess water? M -
a. 1 mole @ c. 3 mole d. A mole
7

. Consider this reaction:

12. What is the molarity of a solution conta

Q a. The metallic atom gains electrons, causing a larger effective nuclear pull f 3Ca(s) + 2H;P04 (aq) > Cay(PO,), (s) + 3H, (g)
@rn metallic atom loses electrons, resulting in loss of an entire energy level. V@ How many moles of calcium ate required to ﬁnonﬂnn 60.0 g of calcium
- c. The nonmetallic atom gains electrons, causing a _E'WQ. effective nuclear pull. X phosphate? —_— bl B “«
d. The nonmetallic atom loses electrons, resulting in loss of an entire energy level. d oW nwlﬁhe!% ,m
6. Which have the lowest electronegativities? \! »” 0.145 mol . b.0.194mol ) c.0.387 mol  d. 0.581 mol
.-:Sr metals b. halogens c. rare carth Bnr»_m d. transition metals 18. >nnonm~5m 5. the nn=.»ﬂo= 2H,0 (O 2 m..mn (2) *+ O; (g), what mass of
7. How many moles are in 59.6g of BaSO,? |37+ w.r. Y = %WWU\ H,0 is required to yield 22.4 L of O :
b. 3.91moles c. 13.9 moles m d. 59.6 moles ‘R%\P .w. L2g _u.. 18g c.2g @
a) /V 8. What is the volume of two moles of hydrogen mmm"»a STP? 19. Consider the reaction 3Mg Amw + 2H;POr€aq™= Mg;(PO,), (s) + u H,(g).
Q N @ 448L b.224L c.112L d.2.00L How many grams of nﬁ»mbnm:ﬁu muro%_-ﬁn should vw ﬁno.nzonm if
w N 9. How many molecules are contained in 55.0 g of LumOa 5.40 mnw“bMQOm Ewﬁ@i& excess phosphoric acid?

a. 0.561 molecules Qm 38 x 10° molecules a.180g  (b.195 c.584g  d175g :
< b. 3.93 molecules 4. 2.37 x 10* mole nczwm 20. Methane (CH,) is burned in oxygen according to this balanced equation:
w, 10. If a sample of magnesium has a mass of 60.0 g, How 453 mol ou Y7 m:.. (g) +20,(g) > CO, (g) + 2H,0(g) . ér»m volume of carbon dioxide

) magnesium does the sample contain? ko.Cq \?\, is fo when 9.36 L of methane are burned in excess oxygen at STP?
~ a. 1.1 moles ~ b.1.2moles c.2.0 Eo_mm : b.15.0 L c.18.7L d.224L
. 11. How many grams of KCl are hnnmmme to prepare 1.50 H.:nnm of a 0.500 M / nW m/\\ ~l V\
” f/\incEﬁou of KCI? A.224g  b.74.6 m/ d.249 g w\u %&. \ g?@k \\\\_\WW.\W\N JNQ.Q l \
Z 125

.N\ V!Q.NQ\W%QQQ _ \O\XG‘QWQMON -

9.

in 1-8\L of solution? E&im&.\@“@a\_ﬁ O . . mm\& Q\\N\ Pu, \%
b. 0.40 M Soom T 028M <&Q\\\ = 4.220 el
SIS
s00.0 | 1nel0 5 30, 4 O

— .
s5a 4,50, | € owwnww%&me\& _bagerz NHOX2 5N HO0, & N

J [16-© —

&@ F 325

J h2? 4 [

4y \/\QN

Ex\ plolecules

&8 .04 14,50
T bl \nsn
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\ wmwmamme Heat Table 12. An ;6 g piece of an unknown v WA 2 15. ¢<_5= a chemical cold pack is activated, it becomes coos ? touch.
v P Ena..m é_wm heated from 21.5°C to b)\ What is happening in terms of energy? abs
e Substance pecilic Hea 89.0 ,O.M .: 292 J of heat a:m..m% a. An exothermic reaction is occurring, absorbing cold from its surroundings.
Aluminum 0.90 J/ge°C was absorbed by the mefal in the . .. b. An exothermic reaction is occurring, releasing heat to its surroundings.

- s m_nm»:.-m process, what was the ¢. An endothermic reaction is occurring, releasing cold to its surroundings.
Caleium 0.65 Jige'C- identity of the metal? Use the - @b: endothermic reaction is occurring, absorbing heat from its surroundings.
s 0.39 J/ge°C Table oh the left to determine the

opper 39 J/g*® identity of the metal. v .

| — q{N&wu\\Qm Nﬁ 675>
Gold 0.13 J/ge°C a. calcium rY s\ L ~C Source of alpha, beta, Hv
Iron 0.46 J/g*°C b. copper O. \ and gamma radiation ju—

c. iron | QD d
Mercury 0.14 J/g*°C - paper w00
é , 16. Consider the di 2 i iati i
Silvar 0.24 J/g*°C s _ e»:o%unw _”.n : Mw MWNMME&MNMM« Which of the three types of radiation will
13. The .m.‘uwr represents the .T gy Profile a.-adpira, beta, gamma é
"ur_w:mw_= o”.m_.mw mm_ﬂ.—_go e i b. aipha and beta only d. beta only
aboratory trials of the sa , 2 3 3y
reaction. Which factor could 7.)The half-life of wrcmc__c_.._.m 32 _m.:.uc days. How M::.M. .-..W.:\.\n.s-:m ofa
explain the energy difference 1.\ 20.0 mg sample will remain after 85.80 days?
between the trials? & N 2.3333mg  b.0.6250 mg Cc. 0.3125mg ) d. 0.1563 mg
2 m. 2 18. In_the figure below, what type of nuclear activity is represented?
eat was added to trial #2 = 3\6@/ 6 ission b. fusion c. alpha emission = d. beta emission
catalyst was added to trial #2
. Trial #1 was stirred o % °
i ; mq
d. Trial #1 was cooled Honction Pathway 205 S Br
200- 14. Refer to the phase diagram % @
180} m__c%.. on the left to determine 41T o
160 what process is occurring when . - : A
= 19. Which particle will complete { STeo N ;
& 140 a substance changes from point - | 59, PN( Aga *a
g 120" X (50 kPa and -130°C) to point o &»%&\.asm::ﬁmﬁ right? mq_Om + 7 Col| -
g0 Es kPa and 30°C)? e G uceus . -
& 80 b. neutron d. proton
60
40 a. EE_En @Em_nim . .
20 b. ﬁ.umu_:m d. sublimation w_ﬂ.maw\a__hmwmw_m“rnma willcomplete 1A Je V E
-200 -150 -100 -B0 0 50 100 150 . w M\ mmm
Temperature (°C) M MWMG — Hmﬁ; l_l p 2 =

<
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